L8 2.4 Continuity G IRIBZET SEAEY £ 55 Fike
lim(x—>3)f(x)=3, lim(x—3)g(x)=0 and lim(x—>c)h(x)=-2,

Compute lim(x—>3)[3+2(x)/(f(x)-h(x))]=?
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" lim(x—>3)3=3 and lim(x—>3)g(x)=0.". lim(x—>3)[3+2(x)]=3+0=3

" mG—>3)E(x)=3, im(x—>3)h(x)=-2.". lim(x—>3) [f(x)-h(x)]=3-(-2)=5

W50 T PUERET L 0.7 Hm(x—>3)[B3+e(x)/(f(x)-h(x))]=3/5
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Def: f 1s cont. at ¢ if im(x—¢)f(x)=f(c). Otherwise f 1s discontinuous.
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Def:Let f:I—=R be a function f 1s cont. on I, if 1S cont. at every point of I.
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(D Polynomials are cont. on R.

@ Rations function are cont. on their domain. =156
@ Ixlis cont. on R.

@ X is cont on R'={x€RI x>0} » R={x€RI x<0}
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[f f and g are cont. at c, then|
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D [f+g is cont. at c.

@ |a +g is cont. at c.

® [fxg is cont. at c.

@ [If g(c)#0, then f/g is cont. at c.

pf. (EAT &« By the way~(f- 2)=f(x)g(x)

®To shat that lim(x—>c)f(x)g(x)=f(c)g(c) [¥u o R P 0 S R e T
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e.g. Let FX)=3Ixl+(x-x)/(x*-5x+6)+4.

Show that im(x—0)F)=4?"" |:{uae frlisl » Frdiag ) 1L ~ 28 -
" 0-04670 (X -x)/(x-5x+6) s defined at 0./</E7 55 2 T 45 O
=1t 1s cont. at 0.

"." 3lxland 4 are cont. at 0. .". Fiscont. at 0. f45E

=lim(x—¢)F(x)=F(0)=0+0+4=4
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g f(x)=g(f(x))=(g- HHf(x)

Thm: |If f 1S cont. at ¢ and g 1s cont. at f(c), then g(f(x)) 1s cont. at g(f(c)).
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